Ms MARTIN’S YEAR 5 MATHS GROUP TERM 4 WEEK 3

Zoom Link Maths Zoom Meeting Tuesday 12:30pm and Friday 12:30pm

https://nsweducation.zoom.us/j/6510791704?pwd=bTRoVkVoVTJITTTIRbIIrTihzVWYOQUTO09

Meeting ID: 651 079 1704  Passcode: 718583.

1. Speedy Starters. Complete a Speedy starter card to start each maths lesson this week.

Attached are the “Speedy Starter” problems. Complete one Speedy Starter card each day. There
are two questions on each card. l.e., This means you will need to complete both questions on the
one card per day.

2. Tables Speed Test. Week 3 Speed Times Tables

Start with your tables Speed Test. Complete the Speed tables attached. Complete all columns.
Time yourself. Write the time for each column at the bottom of each column. Once you have
completed all columns, work out your average time for the 3 columns. Write your average time for
the day on the back on the page.

3. Stepping Stones Text

Page 230 and 231: Division with Remainders - Common Fractions

Page 232 and 233: Division with Remainders — Decimal Fractions

4. Worksheets - Complete the two student worksheets (attached)

Square Pattern

Magic Squares

*These pages are copied and attached for you.

5. Maths Text pages (“Advanced primary maths” book)

Complete a page each day.

Page 130. Super Problem Solving

Page 134. Super Problem Solving

6. Optional: Complete activities in Prodigy Maths or Mathletics - on this week's topics of
division, data, measuring and converting millilitres.

If you need your login details just email Ms Martin for these.


https://nsweducation.zoom.us/j/6510791704?pwd=bTRoVkVoVTJTTTlRbllrTjhzVWY0UT09

‘ 1. SPEEDY STARTERS
Write < (is less than), = (is equal to), or > (is greater than)
to make each of these true.

0. 89-37___80-30-2

b. 253-118 _255-120

c. $20-%1249 ___ $20-$12 +49¢

d. 500-365____ 499 - 364

e. 34-28__ 28-34

Computanon and Number lante © MO0 Mamsters

a. Figure out the answer to this number sentence
in your head.

6 X 40 =

b. Write about the strategy you used.

¢. Write four other number sentences
that you could solve the same way.

CompPuUronion Ond Number lenie © OGO Makasturs




Imagine you divided each of these amounts
into four equal groups.

Write two number sentences to match each one.

(s b. C.
92 136 176
X = 92 = X =
Compulation ond Numder Lemne © OMmLC Pamatars

Look at this number line.

8‘”
8-

What numbers could be located ot points A, B, C, D,
ond E?

Computaion and Number Sense © TGO Mot ey




2. SPEED TABLES
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3. STEPPING STONES PAGES

The digit represents the remainder or 'r’.
The remainder can be recorded as a whole
number, common fraction or decimal fraction.
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| know it's jess than $30, becavse
5§ x $30 = $150 and thot's foo much.

1 dellar hos the some value as 100 cents.
I can share 100 equally ameng 5.







4. STUDENT WORKSHEETS

Problem Solving with Mathematics
SQUARE PATTERN m

Try to work out the pattern in the drawing and fill in the missing

@ ) (©

Try to find the missing numbers in these drawings. @
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?General Mathematics Related Activities:
f~ Magic Squares

mmmmubcomummcnmmmwmmoac. The numbers in a
mmmmwmmmnmmmwdmay. EXAMPLE: Write the magic
number above the square.

15 18 12
4 9| 2 8 1 9
: 3 5| 7 . 6 0 4| 8
8 1 6 1

8 10 18| 4 3
5 10 4
3 16 0] s
12 1 ;
10 7 6 4 2
18| 8 3] 10
1 8|13| 6 0
B 7
2| 9 2( 10| 3
Y
13 3 1% | 11|12
10
71| 14 7121 9 14




5. ADVANCED PRIMARY MATHS TEXT

unT28 Super problem solving

EX ToxiTaxi

Mr Bob drives tourists around his tropical island, He (a
have a booking fee but he charges each passenger a fl;
$3.50 at the start of the journey. He also charges $3.
kilometre travelled regardiess of the number of passeng

Calculate the cost of each taxi ride.
a The Hook family of 4 travelled from A to D

via B and I, ¢
b The Wendy family of 3 travelled from D to H :
viaE, Fand G, $=
¢ The Thomas family of 2 travelled from E 1o B :
viaF, G, Hand I $
Solve the problems.
a Mr Lim paid $35 467 for a new car ¢ Jack saved $154 per month for
plus $2307 for airconditioning and 16 months, If he had already saved
$1563 for power steering. What $1285, what would be his total
was the car's total cost? savings?
b This season the Wanderers scored d Mr Grant passed away and left
48 tries worth 4 points and 3 Z of hus money 1o his children
89 goals worth 2 points, If they snd of what remained to his
scored 546 points last season, wife. The rest went to charity.
how many points less did they How much went to charity if he
score this year? left a total of $12607
WEEKLY TESTER |

ﬂl Mr and Mrs Hughes, their children and
some pensioner relatives visited the zoo.
How many children and pensioners visited
the zoo if the total amount for the zoo entry
for all of them was $76?

a Children b Pensioners

OPEN-ENDED CHALLENGER |

lﬂ Mr Longbottom, the Year 5 teacher, said that the answer to the problem was 15 r 4.

If Mr Longbottom’s problem was about lollies being shared between 3
friends, how many lollies might there have been and how many friends? (‘“ \ (\‘- . P .
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iﬂ Solve the problems.

a There are 1256 passengers on 3 Len’s step is 0.8 m long. How
'ship and 298 crew. How many many steps would Len have to
people are there on the ship? take to walk a distance of 10.4 m?

b Students paid $20 each for the A train travelled 1088 km. If it
bus plus $36 each for the camp. made 8 stops, what would be the
What was the total cost for average distance between stops?
30 students?

¢ Total sales for LIVE magazine for Tom runs 24 laps of the 400 m
the last two months were 34 678. athletics track every day of his life.
How many were sold in the first How far would Tom run in 4 full
month if there were 1200 more weeks of running?
sales in the second month?

WEEKLY TESTER
ﬂl Mr and Mrs Simpson went on their annual holidays. Distances from Sy
Which destination did they reach if they left .

Sydney and averaged the following speeds?

They averaged 70 knm/h for the first hour

They averaged 107 kmyh for the next 2 hours

They travelled at 108 kmvh for the next 20 minutes

They travelled at 102 knvh for the next 40 minutes
They travelled at 60 knmvh for 10 minutes.

OPEN-ENDED CHALLENGER

(12 3TN shifts never start or finish on the hour. He always starts his shifts in the morning
and finishes them in the afternoon. What time do you think Bill might start his shifts on
these days? .

Day Hours

Mon 5 hr 15 min,
Tues 6 hr 30 min.
Thur 7 hr 23 min
Sat 8 hr 57 min.




ANSWERS - SUPER PROBLEM SOLVING
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s 043 d 025 g 07 | 0875
b 002 e 04 h 0125 &k 0378
c 08 f 075 1 08 I 06
2
o 151!!«151-} d ﬁvausﬁz
b 61r3or8} o 1651200 188%
¢ 122r30r122§
3
a 1512 ¢ 122375 e 1554
b 6175 d 55628
‘ . -
a 449.375 f 3516665666
b 372625 g 1211168686
c 212875 h 2131428571
d 3533333333 | 43222222
e 1123625 -
5
o 9075 c 58825
b N340 d 180.625
6
a4 c 4 o %0 ] §
b3 d 5 f 5 h 2
7
o | 10% of S00 ! -8
b 7%5+3 9 90 -8
—————————— = ———
¢ 150 - 25 h 100 -77
e e S — Ty
d Bx7 (I 21 x4 ‘
e 3 x99 } 17 « 30
8
ab c 8 e 100 g 7
b8 d 16 f 7
8
a $4325 b $6250 c $8225
10 ¢
a8 $39337 c SIS
b 17 d $105
"
8 4 chidren b 2 pensioners
12
Hands on. Two sxamples below:
* 79 lcllies and 5 friards
* 133 lolies and 9 friends

3
Hands on,

S N T e T RN T P00 a5 o 80
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g 45 | 145
h 28 k 12
| 25 | 7

3 + 7 x 3 = 24 because multiplication is
done before addition.

3 + 7) x 3 = 30 because all brackat work
is done fiest.

3 x (7 + 4) = 33 because all bracket work
is done first.

13 + 3 x 7 = 34 because multipcation Is
done bafore addition.

4 % 12 + 6 = 8 because mulsiplication and
division are done left to right.

3 + 3 x 7 - § = 19 bacause multiphcation
is done batoce addition or subtraction.

3 421 +3 -6 =4 because dvision is
done bafore addition or subtraction.
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NEWMANS PROMPTS

Read the question twice. If
you don't know a word, leave
it out

e

Work out together what the
question is asking you to do.
Circle important bits

Nt
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/
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Plan how you are going to
work out the answer.

Write down all of your
working out and check your
answer with another strategy

Now, write down your answer
to the question separately.




